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(1) V3xV7—-4 (2) 3vV8++v2-5

(3) V10— v2 x5+ V18 (4) V50 —2v27 = V3 x V2

(5) 25 xV4—3 (6) 4V6+vV3—-6

(7) V21 —V3BxV7T+V12 (8) V72—3V18+v2x V3

9) V8xV2-5 (10) 5V10+V5 -7
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(10)

V21 -4 CEIIROFE L BE)

3Vi—-5=6-5=1 CEHFBRDOEREL BE)

V10 — V10 +3v2 =3v2  (CEARDOFEE 1)

V50 — 2v9 x V2 =50 — 6v2 =5v2 — 6v2 = —v2  CEHBRORE L RE)

2v20 -3 =4v5-3  (CFIIRDFIE & JHF)

1W/2-6  CPIROERE L BE)

V21 =21+ 2v3 =23 CEHBRDFEE L)

VT2 =3V9x V3=6v2-9v3 (FHRDFIR & HF)

VI6—-5=4—-5=-1 CEHFBROFEELFHE)

5vV2 -7 CERDERIE & 8E)



